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1|A2 z Jankowa torem 1J na tor 4 —++— + H?,,R:,S: Tm1, H K e . Kis, TM15,,Tm16, A, 4 2/3,4,7,24/25 AZ 1

2 A} z Jankowa torem 1J na tor 2 —+++ G},,R2,S) Tm1,, Gy, Lins LTans, TM15,, Tm16, A, 2 2/3, 4 A, 2

3 |A? z Jankowa torem 1J na tor 1 —+|—zH |+ F?,,Ri(Z),R%(W1),8? Tm1,, Fons, My 6, M (Z), M7 s (W1), Tm15,(Z), Tm15,(W1), Tm16, A, 1 2/3, 5/6 AZ 3

4 |A2 z Jankowa torem 1J na tor 3 —+—s+ E?,R3(Z),R3(W1),82 Tm1,, BTy NTvse ;NTas (Z),NTris(W1),Tm15,(Z), Tm15,(W1),Tm16, A, 3 2/3, 5/6, 8 A2 4

5 5

6 |B: z Jankowa torem 2J na tor 4 —|+—5+ + H2,R%,S? Tm2, Ho, Ko o K5, Tm15,,Tm16, B, 4 1,2/3,4,7, 24/25 B: 6

7|B2 z Jankowa torem 2J na tor 2 — 4|45+ GEJ, RZ,S, Tm2,,Gh,, L0 o, LT ., Tm15,,Tm16, B, 2 1,2/3,4 B2 7

8 |B] z Jankowa torem 2J na tor 1 (1+) z ++ + F,(2),R(2),R?(W1),S? T™m2,(2),F7 ,(Z),M} o . MT (Z),MT (W1),Tm15,(Z), Tm15,(W1), Tm16, B, 1 1,5/6 B] zZ |8

9 |B? z Jankowa torem 2J na tor 1 (1-) W1 |—|—|s 4+ FgJ(W ),R}(Z),R?(W1),S? Tm2,(W1),F,(W1),Mp 6, M7 s (Z) , MT s (W1), Tm15,(Z), Tm15,(W1),Tm16, |B, 1 1,2/3,5/6 B? W1 |9

10| B2 z Jankowa torem 2J na tor 3 (1+) z H+4+ |— E2(Z),R%(2),R2(W1),S2 Tm2,(Z),ET2(Z), Nivis s Nfias (Z) NTois (W1), Tm15,(Z), Tm15,(W1), Tm16, B,3 1,5/6,8 B? Z |10
1|B2 z Jankowa torem 2J na tor 3 (1-) W1 |—|—|sH— E2,(W1),R%(2),R3(W1),S2 Tm2,(W1),ER,(W1),NR o NP (Z),ND -(W1),Tm15,(Z),Tm15,(W1),Tm16, |B,3 1,2/3, 5/6, 8 B? W1 |11
12 12
13| E2, do Jankowa torem 2J z toru 3 (5+) z |4+ - B%(Z) Tm2,(2),ET ,(2) B, 20 8, 5/6, 1 2J (odjazd) EZ, zZ |13
14| E2, do Jankowa torem 2J z toru 3 (5-) W1 |—|—sk— B2(W1) Tm2,(W1),ED (W1) B, 20 8, 5/6, 2/3, 1 2J (odjazd) EZ, W1 |14
15 | F}, do Jankowa torem 2J z toru 1 (5+) z ++ + Bl(2) Tm2,(Z),FT ,(Z) B, 20 5/6, 1 2J (odjazd) Fi, z |15
16 | F2, do Jankowa torem 2J z toru 1 (5-) W1 |——sk+ BZ(W1) Tm2,(W1), FW(W1) B, 20 5/6, 2/3, 1 2J (odjazd) F, W1 |16
17| G, do Jankowa torem 2J z toru 2 — 45+ B’ Tm2,,Gh, B, 20 4,2/3,1 2J (odjazd) G2, 17
18| H3, do Jankowa torem 2J z toru 4 — 4+ |—5 B’ Tm2, ,Hp B, 20 7,4,2/3,1 2J (odjazd) H3, 18
19 19
20| E2, do Jankowa torem 1J z toru 3 —+|—|F— Al Tm1,,Eqy A, 9 8, 5/6, 2/3 1J (odjazd) EZ, 20
21| F?, do Jankowa torem 1J z toru 1 —+|—|s-+ A? Tm1,,Fr . A9 5/6, 2/3 1J (odjazd) = 21
2|Gj, do Jankowa torem 1J z toru 2 —+++ A Tm1,,Gh, A 9 4,2/3 1J (odjazd) G}, 22
23| H, do Jankowa torem 1J z toru 4 —++— AZ Tm1, ,Hp, A, 9 7,4,2/3 1J (odjazd) HZ, 23
24 24
25| K2, do Celinca torem 2B z toru 4 4+ |—4+ |sk Ky s, Tm16, S 24/25, 28, 29/30 2B (odjazd) K 25
26| Ly, do Celinca torem 2B z toru 2 +4++| |s; LT6,TM16, ] 28, 29/30 B (odjazd) L3 26
27 | M2, do Celirica torem 2B z toru 1 +s-—+| |s? M} 6, TM16, ] 26/27, 29/30 B (odjazd) M2, 27
28 | N2, do Celinca torem 2B z toru 3 —sH—|+ Sz NT 6, TM16, S 23, 26/27, 29/30 2B (odjazd) N2 28
29 29
30 | K3, do Celifica torem 1B z toru 4 +H—4+— |R: KI5, Tm15, R 24/25, 28, 29/30, 31 B (odjazd) K 30
31| L2, do Celiica torem 1B z toru 2 s+ +—| [R? LT .5, Tm15, R 28, 29/30, 31 B (odjazd) L2, 31
32| M, do Celifica torem 1B z toru 1 (27+) z + 44| [Ri(2) M 5(Z), Tm15,(Z) R 26/27, 31 B (odjazd) Mg Z |32
33| M2, do Celifca torem 1B z toru 1 (27-) w1 +sH——| |RZ(w1) MD S(W1), Tm15,(W1) R 26/27, 29/30, 31 B (odjazd) M2, W1 |33
34| N2, do Celinca torem 1B z toru 3 (27+) z — |+ |Ri2) N7 15(Z), Tm15,(Z) R 23, 26/27, 31 B (odjazd) N2, Z |34
35| N2, do Celifica torem 1B z toru 3 (27-) W1 —lsF——| [R%(w1) N7 s(W1), Tm15,(W1) R 23, 26/27, 29/30, 31 B (odjazd) N2, W1 |35
36 36
37| R? z Celiica torem 1B na tor 3 (31+) z —| 4| |AZB:i(2),B3(W1),N%(2) Tm1,,Tm2,(Z), Tm2,(W1),ET ,(Z),ETn(W1),En NI .(Z), Tm15,(Z) R,3 31, 26/27, 23 1B (przyjazd)  |R2 zZ |37
38| R? z Celifica torem 1B na tor 3 (31-) w1 —lsk—|—| |AZ2,B%(z),B2(W1),N%(W1) Tm1,, Tm2,(Z), Tm2,(W1),ET ,(Z2),ET ,(W1),ET  ,N?_(W1),Tm15,(W1) R, 3 31, 29/30, 26/27, 23 1B (przyjazd)  [R2 w1 |38
39 |R] z Celinca torem 1B na tor 1 (31+) z + 4+ 44| |AZBl(2).B2(W1),Miy(2) Tm1,,Tm2,(Z), Tm2,(W1),FT ,(Z),FT.,(W1),F7 . ,MT (Z), Tm15,(Z) R, 1 31, 26/27, 5/6 1B (przyjazd) R} Z |39
40| R? z Celifica torem 1B na tor 1 (31-) W1 +lsH—|—| |A2,Bl(z2),B2(W1),M2,(W1) Tm1,,Tm2,(Z), Tm2,(W1),F? (Z),Fr , (W1),F?  MP . (W1),Tm15,(W1) R, 1 31, 29/30, 26/27 1B (przyjazd)  [R? W1 |40
41|R2 z Celinca torem 1B na tor 2 s —| |ALLBLE Tm1,,Tm2,,G7 ,,Gn . L7 ., Tm15, R, 2 31, 29/30, 28 1B (przyjazd)  |R3 41
42|R? z Celinca torem 1B na tor 4 —+sH—+—| |AZBZKE Tm1,,Tm2, HT  HP KD ., Tm15, R, 4 31, 29/30, 28, 24/25 1B (przyjazd)  |R? 42
43 43
44|85 z Celifica torem 2B na tor 3 —IsH—|4| |A2,B3(2),B2(W1),N2% Tm1,,Tm2,(Z), Tm2,(W1),ET.,(Z) ETn(W1), Eny NI 6, TM16, S, 3 29/30, 26/27, 23 2B (przyjazd) |S2 44
45|82 z Celinca torem 2B na tor 1 —+s-— | |A%Bl(Z),B3(W1), M2, Tm1,,Tm2,(Z), Tm2,(W1),F? (Z),Fr . (W1),FT MT . Tm16, S, 1 29/30, 26/27 2B (przyjazd) |S? 45
46| S} z Celinca torem 2B na tor 2 + 4+ |ALBL LY Tm1,,Tm2,,G} ,,Gn . L7 ., Tm16, S, 2 29/30, 28 2B (przyjazd)  |S, 46
47|82 z Celifica torem 2B na tor 4 4+ |—|44 |AZBLKE Tm1,,Tm2,, Hp ., Hiny , Kings, TM16, S, 4 29/30, 28, 24/25 2B (przyjazd) |S2 47
48 48
49 49
50 50
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51| Tmf, spod Tm1 na tor 4 —+ 4 |— A% H?,R:S: [ 2/3,4,7 Tm1, 51
52| Tmf, spod Tm1 na tor 2 =+ 4|+ A},Gi, R3S, G 2/3,4 Tm1, 52
53| Tm1, spod Tm1 na tor 1 +— |+ AZF RI(Z),R%(W1),8? Fr 2/3, 5/6 Tm1, 53
54| Tmf, spod Tm1 na tor 3 +— |— AZ EZ R3(Z),R%(W1),S? ET. 2/3,5/6, 8 Tm1, 54
55 55
56 | Tm2, spod Tm2 na tor 4 —+|— B, H2,R:,S: [ 1,2/3,4,7 Tm2, 56
57| Tm2, spod Tm2 na tor 2 —++ Bg,GiJ,R§,81 Gh, 1,2/3,4 Tm2, 57
58| Tm2, spod Tm2 na tor 1 (1+) z ++ + B}(2),F},(2),R}(Z),R}(W1),8? Fr.(2) 1,5/6 Tm2, Z |58
59| Tm2, spod Tm2 na tor 1 (1-) w1 |—— |+ B2(W1), F§J(W1) 1(2),R?2(W1),8% |F7 . (W1) 1,2/3,5/6 Tm2, W1 |59
60 | Tm2, spod Tm2 na tor 3 (1+) z +4+ |— B3(2),E3,(Z),R%(Z),R3(W1),S? ETL(Z) 1,506, 8 Tm2, Z |60
61| Tm2, spod Tm2 na tor 3 (1-) W1 [—|[—| |— B2(W1),E2,(W1),R3(Z),R3(W1),S2 |ER ,(W1) 1,2/3,5/6, 8 Tm2, W1 |61
62 62
63| ET, z toru 3 za Tm2 (5+) z +4+ |— B2(Z),E%,(Z),R2(Z),R%(W1),S Tm2,(Z) 8, 5/6, 1 ET, Z |63
64| ET ztoru 3 za Tm2 (5-) W1 |—|—| |— B2(W1),E3,(W1),R3(Z),R3(W ) S2 | Tm2,(W1) 8, 5/6, 2/3, 1 ET ., W1 |64
65 ET | ztoru 3 za Tmf1 +— |— A% EZ R3(Z),R%(W1),S2 Tm1, 8, 5/6, 2/3 ET 65
66 66
67 |F7 ztoru 1za Tm2 (5+) z +4+ |+ Bi(Z),F},(Z),R}(Z),R3(W1),8? Tm2,(2) 5/6, 1 Fro Z |67
68 | F ztoru 1 za Tm2 (5-) W1 |——| |+ B2(W1),F3,(W1),R}(Z),RAW1),8? |Tm2,(W1) 5/6, 2/3, 1 [ W1 |68
69 | F7, ztoru 1za Tmf1 +— |+ A2 F RI(Z),R%(W1),8? Tmf1, 5/6, 2/3 Fo 69
70 70
71| G, z toru 2 za Tm2 — 4|+ B5,G5,,R2,S) Tm2, 4,2/3,1 Gl 71
72|Gh ztoru 2 za Tm1 —+++ A}, G},,R2,S] Tm1, 4,2/3 GI., 72
73 73
74| HY z toru 4 za Tm2 —+— B2, H2,R%,S: Tm2, 7,4,2/3,1 HY 74
75| HY ztoru 4 za Tm1 —++— A% H?,R:,S: Tmf, 7,4,2/3 HY 75
76 76
77 KD ztoru 4 za Tm16 +| =+t |ALBLKE.SE Tm16 24/25, 28, 29/30 KM o 77
78 KD s ztoru 4 za Tm15 —+| |—|4+|—| |AZBiKL.R Tm15 24/25, 28, 29/30, 31 KD s 78
79 79
80|LT ztoru 2 za Tm16 ++4| |ALB:LY.S) Tm16 28, 29/30 LT e 80
81|LT . ztoru2 za Tm15 +—+—| |A] B2 L%, R Tm15 28, 29/30, 31 LT 81
82 82
83| M7 . ztoru 1 za Tm16 4| |—4| |AZBl(z2),B2(W1),M2,S? Tm16 26/27, 29/30 M 83
84| MT . ztoru 1za Tm15 (27+) z 4+ |44 |AZ2Bl(2),B2(W1),Miy(2),Rl(Z) Tm15,(2) 26/27, 31 M7 s Z |&4
85| M7 . ztoru 1 za Tm15 (27-) w1 4| |—|—| |AZB}(2),B2(W1),M%(W1),RZ(W1) | Tm15,(W1) 26/27, 29/30, 31 M s W1 |85
86 86
87 | N7 16 ztoru 3za Tm16 —| |—4| |AZB3(z),B3(W1),N%,S2 Tm16 23, 26/27, 29/30 NP6 87
88| NT o z toru 3 za Tm15 (27+) z — —+| |A%,B%(2),B2(W1),N%(2),R%(Z) Tm15,(2) 23, 26/27, 31 NT o Z |88
89 |NT 15 ztoru 3 za Tm15 (27-) Wi —| |—|—| [|AZ,B%(Z),B3(W1),Ni(W1),R3W1) | Tm15,(W1) 23, 26/27, 29/30, 31 NT 15 W1 |89
90 90
91|Tm11,, |ztoru8nator 10 — 4+ Tm14 21/22 Tm11,, 91
92| Tm11,,,, |ztoru8zaTm16 —|— -4+ Tm16 21/22, 24/25, 28, 29/30 Tm 46 92
93|Tm11,,,, |ztoru8zaTm15 —— =+ Tm15 21/22, 24/25, 28, 29/30, 31 Tm s 93
94 94
95|Tm12,, |ztoru6 nator 10 + 4 Tm14, 21/22 Tm12,, 95
96| Tm12,,,, |ztoru6zaTm16 +— =4+ Tm16, 21/22, 24/25, 28, 29/30 TM12416 96
97| Tm12,,,, |ztoru6zaTm15 +— |—4— Tm15, 21/22, 24/25, 28, 29/30, 31 TM124,15 97
98 98
99| Tm14, ztoru 10 na tor 6 —+ 4+ Tm12,, 21/22 Tm14, 99
100| Tm14, z toru 10 na tor 8 —+ Tm11,, 21/22 Tm14, 100
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101
102| Tm15, spod Tm15 na tor 3 (31+) z 4| |AZ,B3(z),B3(W1),N%(2),R(Z) Npis(Z) 31, 26/27, 23 Tm15,
103| Tm15, spod Tm15 na tor 3 (31-) w1 —|  |——| [|AZB(2),B53(W1),Ni(W1),RE(W1) |NTs(W1) 31, 29/30, 26/27, 23 Tm15,
104| Tm15, spod Tm15 na tor 1 (31+) z 4+ 4| |A%B}(2).B2(W1),M],(Z),RI(Z) M7 (2) 31, 26/27 Tm15,
105 Tm15, spod Tm15 na tor 1 (31-) W1 4| |——| |AZ%Bl(2),B2(W1),M25(W1),R3(W1) |MT . (W1) 31, 29/30, 26/27 Tm15,
106 Tm15, spod Tm15 na tor 2 ++—| |A}.B2L%,.R LD s 31, 29/30, 28 Tm15,
107| Tm15, spod Tm15 na tor 4 4+ |—4— |ALBLKEL,R: [ 31, 29/30, 28, 24/25 Tm15,
108/ Tm15, spod Tm15 na tor 6 +|— |—4— TM12;,4s 31, 29/30, 28, 24/25, 21/22 Tm15,
109| Tm15, spod Tm15 na tor 8 —— =+ M1 s 31, 29/30, 28, 24/25, 21/22 Tm15,
110
11| Tm16, spod Tm16 na tor 3 —| |—|4| |A%B%z),Bi(W1),N%,S? N6 29/30, 26/27, 23 Tm16,
112| Tm16, spod Tm16 na tor 1 4| |—4| |AZB}(2),B2(W1),M2,S? M7 29/30, 26/27 Tm16,
113 Tm16, spod Tm16 na tor 2 +++| |ALB:LY.S) LT 6 29/30, 28 Tm16,
114| Tm16, spod Tm16 na tor 4 +| =4 |AZBZKE,SE KT o 29/30, 28, 24/25 Tm16,
115/ Tm16, spod Tm16 na tor 6 +|— -4+ TM12;46 29/30, 28, 24/25, 21/22 Tm16,
116| Tm16, spod Tm16 na tor 8 —— =4+ M1 e 29/30, 28, 24/25, 21/22 Tm16,
117
118
119
120




